l 431S

d31371dnoo

OO ™| >
| w| |
2|28 |2
=2| |k
S5 |2
|l a P
3 2
QI | >
Qa9 3
a|ala |3
X | T X
N S
© 3
3 3
3

| | 0 | =
T| U| U |
ololol|o
n|ln|lon

1811 FHVYMAUVYH

LST'T 1dVd

HTEV.L ONINIA LOHY  ¥9-95+C
NOLLONYELSNI A THINHSSY




ASSEMBLY INSTRUCTION
2456S SIDE CHAIR

PART LIST:
@ HARDWARE LIST

N I — L-ALLEN KEY 4mm 1 PC
B| qum Bolt @5/16"x2-1/4" | 4 PCS
Back 1pc Seat 1pc Front leg C| @Qum Bolt @5/16"x3" 4 PCS

2pcs D| @mmw Bolt @5/16"x1-1/2" 1 PCS

E ) Spring Washer @5/16" 9 PCS

F ) Flat Washer @5/16"x@19mm | 9 PCS

COMPLETED




d31371dnoo

< |0

L )]
y |3
=| 3
o | =
=3
gl g
9]
-5
Q Q
Sy 54
> >
P b
N S
© 3
3 3
3

®| 0| ©
| U| O
OO0
n|lnlw

1811 FHdVYMAHVYH

LST'T LdVd

HONHE  €1-9S¥¢

NOLLONELSNI A THINHSSV




l 4318

a3a13a1dnod

J 0w

_E
(¢
g
5 E
A%B
[¢]
® =
o0 B>
m|w| W
218& |2
5 -
I
3@ m|>
2 = Z |
m% = |G
g <|>
A
m
Q||| »|C
Q|la| a3 |®»
AGEIEAR
X | T X
N S
© 3
3 3
3
o|w|loo | =
V| V|V |10
OO0 o
nwlw w

LSI'T LdVd

LHOIFH Y3INNOD  9€-95KT
NOILONYLSNI A THINHSSY

dOLl I1gdvN‘IT1avL




ASSEMBLY INSTRUCTION
2456-24 COUNTER HEIGHT CHAIR
PART LIST:

(A (7
HARDWARE LIST
_ _ \ A] —=< [ L-ALLENKEY | 4mm 1 PC
B| gum Bolt @5/16"x2-1/4" | 4 PCS
C| gum Bolt @5/16"x3" 4 PCS
Back 1pc Seat 1pc Front leg Side Strecher  Front Strecher D| o= _wo:. @5/ Hm....xftm.. 1 PC
2pcs 2pcs Ipc E| e Spring Washer | @5/16 9PCS
Fl Flat Washer @5/16"x@19mm | 9 PCS
G| ~wr} | SCREW @8mmx1-1/4" | 6 PCS
STEP 1 STEP 2 STEP 3 COMPLETED




ASSEMBLY INSTRUCTION
2456-40 SERVER,MARBLE TOP

I

PART LIST:

A| <% | L-ALLENKEY 4mm 1 PC
legs B | @umo Bolt @5/16"x2-1/4" 8 PCS
4pcs cl = Spring Washer @5/16" 8 PCS
D <= Flat Washer @5/16"x219mm | 8 PCS

COMPLETED




l 431S

da3131dnoo

O ol >
Tl w|w|r
21322
=13 |§
S5 |2
|l a P
3 2
QI
Q| a|Q ) 3
2| a|a|3
X | | X
Q S
© 3
3 3
3

| cof oo | —
T| V|0 |
olololo
h|lhh|on

1811 FHdVYMAUVYH

LST'T LdVd

419VL 384900 0€-95KC
NOLLONYELSNI A THINHSSY




l 431S

d31371dnoo

gjlo|m|>»
ol o T
2|28|S|®
=12 |G
S5 |2
|l a P
3 2
ISHIRSNIECIIIFN
Qo a3
29| |3
x| " | x
Q S
© 3
3 3
3

| 6| 00 | =
V| O[TV |
Ol |o
n|ln|wm

1811 FHVYMAUVYH

LST'T 1dVd

70-95¥C

NOLLONELSNI A THINHSSV

319V.L dN4




l 431S

d31371dnoo

od]
doy 9[qe .

glo|m|>»
ol o T
2222
=27 |5
S5 |2
|l a P
3 2
ISHIRSNIECIIIFN
Qo a3
29| |3
x| " | x
Q S
© 3
3 3
3

| 6| 00 | =
V| O[TV |
Ol |o
n|ln|wm

1811 FHVYMAUVYH

LSTT LdVd

HIdVL VAOS  §0-95¥¢C

NOLLONELSNI A THINHSSV




	2456-64 Dining Table AI(confirmed)
	2456S Side chair AI(confirmed)
	2456-13 Bench AI(confirmed)
	2456-36 Counter Height Table
	2456-24 Counter Height Chair AI
	2456-40 Server AI
	2456-30 Coffee table AI(confirmed)
	2456-04 End Table AI(confirmed)
	2456-05 Sofa Table AI(confirmed)

